) .
g | XIR®R

7 AL IR G K 2 ) Rl AL g




9}
o
<2
<o
A%
(%)

ﬁ%ﬁ%%h@ﬁ
.

2 MEAR EHR

lNII\HI\!!IMIHI\I\NII\\||\$\|\\I||11|HI||

00450623

K E A H MR




TR LR EFHR

ME (RBKLAHA)
EXY Y S
¥R REL B
¥ #

& FRELE 10/

FAXEXBDGALEN o 7

£ WM THR

HENB, RER BRIt K M niEgs. £ W

IR L ML 8 i 41 B M HHEHESRERT
RBWIAHKAH 1109 o7 AR T AR EL R 7 M
ORI, 130024) KT S SZENN e R
FrAk, 850X 11¢8 Mk 1/32 1903423 AL
EPYE: 11.125 190542 2 AM3IKRENN
BT, 333 F EN%) 13 001 = 19000 B

ISBN 7—5602—0886 - /G + 383 4 6,00

e




woE

ERMBWEMAEL CRERFHEKRA) LEXERF
“WI AR, AR AHRERETEME—H R K
T RS KA T TR AR W A7 2 W ST M R i Y ik
R, RIRTTEE (FMKELFHEMAEN), k54
RNERAILERNHLR. BRETEANERA SR L, #ED
R RIS, MORETIRM,

AT RIZXIKERBNEHXAER, BANNESAY
EMRANTH, EHM—FBHFURAT CRERBRREY AKX
A R, BN+ EIRRKEEME R (¥AK
R HERHAELBERGERBLHMARORNTTRY, RAH
A E R E S o3 vE L OCRR AT T T 9% 46 SR B A B A N
B, BEBASFRRANERLERS WS EFRNL L RE®
REKEEARSBE, XHHERIRAT 2BRBYSHE
iﬁﬁiﬂﬂ?ﬂﬁ#ﬁ#.ﬁﬂﬂﬁ%ﬂﬂ#ﬂﬂ&%ﬁf!
* °

EHRTEDE G S WEKEXE A KRR REN R
BEUAAIZA.

RTNE KT TRH, %*ﬁMSKEZﬂEMMQ,ﬁ
WEK MK IPRE., a

*

1992 48 10 §

s ]



CONTENTS

PART 1 SYLLABUS AND SAMPLE TEST FOR

COLLEGE ENGLISH TEST—BAND FOUR

1. Syllabus for College English Test—Band Four  ¢eee |
2. Sample College English Test—Band Four  seececcecese 4

PART I SIMULATED TESTS

Test 1 uo-oooocotcoT".oooooooo-¢o-oo'ocuuuuo.-o.co-'--onoooooo-co 23

Test 2 ----- $ 900000000 080000 000000000000 0000E0T08000000000 rs0re 38

Test 3 scoverctocssccccrsccrssesssrsiosssvscccssscsascssccssarase 53

Test 4 seooesecassscscccascscarsorsiecesvssnsessssssssncsssanase 67

Test 5 S00 $00 800000 000000000 000002600000 000000 200 0NNCUEROIE RO S0 81

Test 6 ceececccccrcsescsssense teessssassssssansssssessssssssses 9B
Tegt 7 cossesecesecsssasssccccscsscsssavssscencsoscsccecesces 110
Test § seceresensecscscrccconsancecssvrscccvensasvsascasasses 125
Test O roccevesascescrocacssassssscsscssssssrssoscecccssassee 139

Test 10 seososcsscecrsccscssrcssvsassocacsesvrnsnrsarassrneene
Test 11 ceeeseccccee Gesevececaseesenee et st btedet svesnIe bl
Test 12 soecescccctescssrocacaccsssarstsssnceascscsscsssssses
Test 13 ceeosrocociasccctccercarecscsnrancsrvcsnnssccscssnces
Test 14 ceesvooveorossrccosecncevsscsncensoscsnsnrsvrororsesne

Test 15 460000000004 440400400080 408408005008080000000 000000000000

PART I COLLEGE ENGLISH TESTS—BAND

FOUR (4FSH1 & 4DSH2
College English Test—Band Four (4FSH 1) eecescene
College English Test—Band Four. (1DSH 2) eseceesss

APPENDIX

1. Script for Listening Comprehension ssecessesesscecnss

llc

154
169
185
200
215
230

245
260

275



2. Answer ey (for Reference) srecscsesassrrrsssesnore 333
3. Model Essays (for Reference) ssseeesecrsocerseerrrnse 339




i

~¢

PART 1
SYLLABUS AND SAMPLE TEST FOR
COLLEGE EMGLISH TEST—BAND FOUR

- REFFOLF AR
Syllabus for College English Test
—Band Four (CET-4)

[

ERPBEGRATAFHMENEBHAFHCCER
ERFRMNERFRY, KARITRES  FHTSRNE KK

ERHEERTE—MREAN K XERBRERY K (CET-O

BREREX-LEMEHO.FRYENEFLEYEESRX
SRBONEHEERTEIBEXAFTRENENER.IHY
KW F R B L M8 1E % 1, (criterion-referenced Test)

B¥ERMEY, KELBHEHEHREREERATREY
D]t B A » — 5B BT UT A4 BB 1 B TS P M K 0T L2 — 2 i) R o
BIOUERMENERENEL, FEEERBUEBTHATR . KB
WHRENAS FIH— L REER KT TRFAER. Y
Wk S REESREEEABRENES, Aot i HEEERTiRE
GHMIARHAENKERE.,

EHRB—HFEELTE. T ENEARE0 AN £4G 5
AHFERFREATERY EXAFAEN —REOERS
BHHRUILSBAR I RIELBHTHE REXEERSS
B R, ERAE IR A F RN SR RBE A . H3X
BeERSBERIF S B £E HETOR N iR Xes

o]




B .
AERT BEWMSERNE T, B REHEFED R IFEE R
BT E R SLRE R AT (] 84T — K.

£ Rt N B

FHERGEREANATS U HER . FEER GBS EEE
. ZE EXEE.2FGHENTFR RS .

& — =84y YT HIBME (Part 1, Listening Comprehension); 3£20
B, % iR B A 2050 40 X — S B FE T 19 : A 15 (Section A)F 1080,
BEE—AXIE, P, HiEFH — A 4 B T5 (Section B) K 10
B.ANRHEETERIMNZE . BREA _ZENEE, 88
X — 64 .

WA A RE SR B E R, ERFENKEFRS
ey SEEARBT Y N RESR RFNIEEREI
212047, & — 8 . BebF B9 JR W 2 -

LESHA N B HEFFO—BE DFERNAERK

"
2. TEWT AR A BR AR A K E AR B, UFE Y
b
. AEEABEEERFNALREUERENER.
WA B H BRI ERROLFENEN.
8 584 [RiRI2AR (Part I ; Reading Comprehension); 3£20
B, %R 854 EREERES TREX SRZEFET
1000id] BHEXEEETNNE S ENREXEATNSEN
BTk — N REER AR R
1L EBHT 2, U EEAYEIE. a3k, B AR B
IR, BRI R G E RN FEE R,

2. BB H, T RAAFB IR R R H,

3. XEAE TR P, x5 W T S e T Ay e Al ,
B ARACRORNEE, FOUEERRE L.

FizERERS EEMATRES .

LEEFEM RN EEMRE,

2. TR EEMAKEHFLNAT

«2 e

’ ‘



. RERTFEOESR, &ﬁ&ﬁi‘%r‘ﬁtﬁﬁﬂﬁﬁ*‘%é’]#ﬂﬁﬁ
HEil :

1 BEBNNETHEL LEBLELTXMEEXR.

PR EBE A B &R B2 B R R EH’JﬁEjJ '
BEERER  WERT—EHEE.

$E=8%5:88 BAME AL ¥ (Part T Vocabulary and
Structure) ; 3£ 3088 , % A B 5] 204 # . B8 H F 40 % Jo 37 M AHIE A B
:,60% AiB M . %X%ﬁiﬂ\ﬁ@ﬂg/‘)ﬁﬁlﬁqﬂﬂtﬂ—/\ﬁ&
. ﬁlﬁﬂf)ﬁ&*ﬂ%&f‘*@"%%%Eéﬁ%ﬁhﬁ%&x_)‘ﬁﬂﬂiﬂ
ERERGHAE S FEEEEEHERRALREREHE

—REWEHLTHE, :

S 3B4} SR MZR (Part IV ; Cloze) ;3£ 200 , 2 AT ] 154>
o IE— BB R T RS (200 D R EAH204MEA,
BN EEN B, BEEENMERT  EREEELTREBAEY
Bt EeE - BEEER, ﬁﬁiéﬁ%ﬂiﬁ’ﬂfff@’ﬁimﬁ HEY

A A IES R ML iR,

' mﬁﬁ?%ﬁéﬂﬁ%%ﬂ]ﬁ%é%mEfﬁlnﬁé’iﬁﬁi}o

E RS . BEPart V , Writing) ; 3L 15, % X 1 6] 30404,
%*’%’i%ﬂi“%l00~—120'i§}f1"1¥§3§°iﬁ%£ﬂ§€%tﬂ% H, 2l
EER HERFEE RAHBEEHNERES, KA X 8H
EREREX . EREVEMRABE, BER, TECELE
B EENNRERE K ERN—BRER.

BXEESHSHEMENREE HRERRREBEANE
A . : '

EHBIT DA

BV AR LB % R A AT A o o
— A BEER, S B (Answer Sheet) L ITH R ER S FE BRE4E
2B 4 — S B 28, iK% (Test Paper) E R BAE(ETIE S . B
REERE— AR, S K. 2 T 4 A W
HRETHS | PR B A RIS R E S R
SRR U SRR 580, L6043 0 R 6 FME L FLA% B0 B 46 4 6




RERFHBFNEERSHIESE, B ER“BRBRE"F
s 8
C RBHENRSEER ISR AT RNT

75 | B% &G EWH EEHK | #H4 | HetH
1 1—20 Wr f1 FR R 208 | 204 204y 4
I 21—40 )3 78 4R 20 | 404} 354534
I A1—70 | FE B EAIEEEH | 308 | 154 204> 4
N | 71—90 T ML 204 104% 1543 8b
v 91 RXEE 18 154y 304>

git SUE | 1004 | 120538

KFEEFOREREE
COLLEGE ENGLISH TEST
.......... BAND FOUR cvreremans
(SAMPLE)

- %

— HHEMRS G RS BRI EL,%
RS M B R A R
G O R R AR R E

= B E AR,

=4 120 S EPTE R S WRE. T R A,

P, 20 PR 2 5 — 2 S ARG b L B M
EARSEREM LSRG,

T EWERE R~ ER, SRR BTN ER
FRBEFET AN —£RE ERTER,

(A) (Bl ee3 (D)

EREMATEEEFES.

f



AMEERDER LARAREEEZFREEHEE. A
ERARLEOHNEEHREE,
tEXHRELS.

Part [ Listening Comprehension (20 minutes)
Section A
Directions,In this section, you will hear 10 short conversations. At
the end of each conversatioris a question will be asked about what was
said. The conversation and question will be spoken only once. After
each question there will be a pause. During the pause, you must read
the four choices marked AY, B}, C), and D), and decide which is the
best answer. Then mark the corresponding letter on the Answer Sheet
with a single line through the cesiter,
Exsmplo,You will hear .
You will read ; A) At the office.

BYIn the waiting room.

C)At the airport.

D)In a restaurant,
Sample Answer -=AIBI(CI(D)

From the conversation we know that the two were talking about
some work they have to finish in the evening. This is most likely to
have taken piace at the office. Therefore, A) “At the office” is the
best answet. You should mark (AJ on the Answer Sheet with a single
line through the center.

1. A)Yes, he may attend it.

B)Yes, he will by all means.
C)No, he can’t attend it.
D)No, he doesn’t want to attend it.

2. A)YShe doesn’t want to &nswer the question,
B)Ste doesnt understand what the man said.
CJShe is also a neweomer in the city.

D)She is going that way, too.
2. A)One. C)Three.
B)Two, D)Four,



4. A)He will no longer ask for their help.
B)He will regret not having theit help.
C)He still needs their help.

D)He has to manage without their help.

5. A)She is not feeling very well.

B)She is very ill.
C)She is annoyed with the doctor.
D)She is badly hurt.
6. A)Things to wear.
B)The warm weather.
C)Best material for making chthes.
D)A bright shirt.
7. A)In a restaurant.
B)At the railway station.
C)In the post office. .
D)At the airport.
8. A)6145. C) 7:15.
"B) 7145, D) 6:15.
9. A) Two weeks from now.
B) In about two days.
C) He hasn’ decided yet.
D) In four weeks.
10. A) A double room.

B) A single room.

C) A room on the second flocr.
. D) A room on the top floor.

Section B :
Directions: In this section, you will hear

3 short passages- At the end

of each passage, you will hear some questions. Both the passage and the
questions will be spoken only once. After you hear a question, you

must choose the best answer from the four

choices marked A), B), C)

and D). Then mark the corresponding letter on the Answer Sheet with

a single line through the centre.
Passage 1

'6'

s

/'"“”"4 4



heard.

Questions 1] to 13 are based on the passage you have just

11. A) Listening to music.

B)
)

Swimming.
Walking.

D) Going to movies.
12. A) Running.

B)
<)
D)

Cycling.
Fishing,.
Hunting.

13. A) Swiss people are very frank.

B)
1))
D)

Switzerland has a favourable climate for sporting activitles.
Switzerland has a variety . of attractions. '
Switzerland is one of the most beautiful countries in Europe.

Passage 1
Questions 14 to 16 are based on the passage you have just
heard. ' o

» 14 A) To find out how clever monkeys were.

15.

16.

B)

©

D)
A)
B)
)
D)
A)
B)
@)
D)

~ Passage | |

To test the intelligence of dlfferent amma[s

To compare the difference between man and the monkey.
To find out how xnonkg' s search for food. '
To give the monkey a surprise. . . '

To see how the monkey ate from a box.

To see how soon the mor:key could find it.

To find out how the mo: 1key would open the box. *
By watching it through the keyhole. ’

By waiting outside the door.

By kneeling down at the cloor.

By putting it in a small bux.

Queshons 17 to 20 are basnd on !ha pamgc you havc just
‘ward '
17. A) He thought experts were inore needed there, _

B)

He wanted to have a good time there. '



C) He was invited to work there.
D) He didn* like to stay in Shanghal any longer.
18. A) Nineteen,
~ B) Sixty-five,
C) Eighty-four.
D) Fifty.
19, A) The food in Nanping. 7
B) The organization of the class.
C) The discussion in the class.
D) The co-operative spirit of the students.
20. A) It was interesting.
B) It was a valuable experience.
C) It was too far away from big citles.
D) It was a difficult course to teach,

Part 1 Reading Comprehension (35 minutes)

Directions; There are 4 reading passages in this part. Each passage is
followed by some questions ot unfinished statements. For each of them
there are four chojces marked A), B), C) and D) . You should decide
on the best choice and mark the corresponding leiter on the Answer
Sheet with a single line through the centre,

Questions 21 to 25 are based on the following passage;

The advantages and disadvantages of & large population have long
been & subject of discussion among economists, It has been argued that
the supply of good land is limited. To feed a large population, inferior
land must be cultivated and the good land worked intensively, Thus,
each person produces less and this means s lower average income than
could be obtained with a smailer population, Other economists have ar-
gued that a large population gives more scope for specialization and the
devsiopment of facilities such as ports, roads and rallways, which: are
not likely o be built uniess there is a big demand to justify them.

One of the difficuities in carrying out a world-wide bdirth control
program lies in the fact that official attitudes to population growth vary
from country to countty depending on the level of industrial
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development and the availability of food and raw matetials. Tn the de-
veloping country where a vastly expanded population is pressing hard
upon the limits of foud, space and natural resouircas, it will be the first
concern of government to place a limit on the birthrate, whhtaver the
consequences may be. In a highly industrialized soclety the problsm
may bs more cbmplex. A decreasing birthrate may fead to unemploy-
ment because it results in a deelining market for manufactured goods.
When the pressure of population on housing declines, prices also decline
and the bullding industry is weakened, Faced with considerations such
as these, the government.of a developed country may well prefer to see
a slowly increasing population. rather than one which is stable or in de-
cline.
21, A small population may mean _____ .

A) higher productivity, but a-lower averagé income

B) low'er productivity , but a higher avorage income

C) lower productivity and lower average income

D) higher productivity and a higher average income
292. According to the passage, a farge populalion will provide a chance

for developing

A) agriculture C) industry

B) transport system D) national economy
23, In a developed country, peopie will perhaps go out of work {f the

birthrate .

A) goes up

B) goes down

C) remains stable

D) Is out of control
21, According to the passage, siowly rising birthrate perhaps is good for

*

- A) a developing nation
B) a developed nation
.. €) every nation with a big population
D) evety nation with a small population
26.1t is no easy job to carry out s general plan for birth control
e Qe




throughout the world because .
A) there are too many underdeveloped countries in the world
B) underdeveloped countries have Iow Ievel of industrial develop-
ment
C) different governments have different views of the question
D) even developed countries may have complex problems
Questions 26 to 30 are based on the following passage;

“It hurts me more thar you. “and “This is for your own good. ”
These are the statements my mother used to make years ago when I had
to learn Latin, clean fny reom, stay home and do homework.

That was before we entered the permissive period in education in
which we decided it was all right not to push our children to achieve
their best in school. The schools and the educators made it easy on us.

They taught that it was ai! right to be parents who take a let-alone poli- '

cy. We stopped making our children.do homework., We gave them cal-
culators, turned on the television, left the teaching to the teachers and
went on vacation.

Now teachers, faced with children who have been developing at
theit own pace for the past 15 years, are realizing we’ve made a terrible
mistake. One such teacher is Sharon Klompus who says of her students
—-“So passive” — and wonders what happened. Nothing was demanded
of them, she believes. Television, says Klompus, contributes to
children’s passivity. “We’re not iraining kids to work any more,” says
Klompus. “We'e talking about a generation .of kids who’ve never been
hurt or hungry. They have learned somebody will always do it for

_them. Instead of saying ‘gc look it up’, vou tell themn the answer. It
takes greater énergy to say no to a kid. ” _

Yes, it does. It takes energy and it takes work. It’s time for par-
ents to end their vacation and come back to work. It’s time to take the
car away, to turn the TV oft, to tell them it hurts you mote than them
but it’s for their own good. It’s time to start telling them no again.

28. Children are becoming more inactive in study because
- A) they watch TV tovdwatcr) ' '
) they have done toc ‘much homework

-

o



27.

28.

C) they have to fulfil too many duties

D) teachers are too strict with them

To such children as described in the passage

A) it is easier to say no than to say yes

B) neither is easy—to say yes or to say no

C) it is easier to say yes than to say no

D) neither is difficult——to say yes or to say no
We learn from the passage that the author’s mother used to lay em-
phasis on

A) learning Latin

B) natural development

© C) discipline

29.

30.

‘D) education at school

By “permissive period in education” the author ‘means a time

A) when children are allowed to do what they wish to
B) when everything can be taught at school

C) when every child can be educated

D) when children are permitted to receivé education

The main idea of the passage is that -

A) parents should leave their children alone

B) kids should have more activities at school

C) it’s time to be more strict with our kids

D) parents should alWays set a good example to their kids

Questions 31 to 36 are based on the following passage;

They are among the 250, 000 people under the age of 25 who are

out.of work in the Netherlands, a group that aceounts for 410 percent of
the nation’s unemployed. A storm of anger boils up at the government-
sponsored (B /i ¥t 8 ) ) youth center, even among those who are con-
tinuing their studies.

“We study for jobs that don’t exist,” Nicollete Steggerda, 23,

said.

Atter three decades of prosperity, unempioyment among 10 mem-

ber nations of the European Community has exceeded 11 percent,

s 11 .



